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T 5 Al 7NQ1-7117F Hl-711%t HRI-H AT
A 1,804,081 1515977 265,177 99,922
(1009) (84.0) (14.7) (1.3)
A=) 851,671 712,307 128,852 10,512
B (100%) (83.6) (15.1) (1.3)
=2y 952,410 803,670 136,325 12,410
° (100%) (84.4) (14.3) (1.3)

MEZAA 7} de] AneFe JA ARG 1,804870% 3A1A7F] 100% o1
%‘ AV 571 A3zt 9373 7(52.0%) 0], o719 90% ~100% ALAFE E
gkl FAIA7FS) 90% o) Alalrt 13744 7(76.2%) ¢ vhA, 7iE AR 7k 80%
0] 1453 71(8.0%), 80% ~90% mlwro] 286 7(15.8%) 24 FAIAI71] 90% T
Tk A7) 4313 7(23.8%) 9l sFH Tk

gk NQI-THQIE Afe] Akl FES Vo ® B WA A 151657
% 3AA7E] 100% o]AFe] 6493 71(42.7%) 1M, o}7]ell 90~100% ALAFE +
SFahH 1,086 71(71.7%) 0] FAAI7FS] 90% 014 Fe= o2 Al gk ubd A
7kl 80% <Fa=o] 145371(9.5%), 80% ~90% mHke] 28654 71(18.8%) 0.2 &4 A7}
o] 90% wlt 4= Al 4313 74(28.3%) 0] Atk
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